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•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk iz'u 10 gSaA  

 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 10 questions. 

•••• iz'u-i= esa lcls Åij fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

 The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 

dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 

lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k lkekU; funsZ'k lkekU; funsZ'k lkekU; funsZ'k %%%%    

General Instructions : 

        (i) lHkh iz'u vfuok;Z gSaA lHkh iz'u vfuok;Z gSaA lHkh iz'u vfuok;Z gSaA lHkh iz'u vfuok;Z gSaA     

        All questions are compulsory. 

 (ii) iz'u la[;k 1 ls 3 fucU/kkRed iz'u gSaA izR;sd iz'u 5 vad dk gSA 

  Question No. 1 to 3 are essay type questions. Each question carries 5 marks. 

 (iii) iz'u la[;k 4 ls 6 rd y?kq&mÙkjh; iz'u gSaA izR;sd iz'u 3 vad dk gSA  

  Question No. 4 to 6 are short answer type questions. Each question carries 3 

marks.  

 (iv) iz'u la[;k 7 ls 9 rd vfr y?kq&mÙkjh; iz'u gSaA izR;sd iz'u 2 vad dk gSA 

  Question No. 7 to 9 are very short answer type questions. Each question 

carries 2 marks. 

 (v) iz'u la[;k 10 esa rhlrhlrhlrhl (1-30) oLrqfu"B iz'u gSaA izR;sd iz'u 1    vad dk gSA lghlghlghlgh fodYi pqudj 
viuh mÙkj iqfLrdk esa fyf[k,A 

  Question No. 10 has thirty (1-30) objective type questions. Each question carries 

one mark. 
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 (vi) iz'u-i= esa lexz:i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys nks fucU/kkRed iz'uksa 1 o 2 esa 

vkUrfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls dsoy ,d,d,d,d gh iz'u djuk gSA 

  There is no overall choice. However an internal choice has been provided in 

each. You have to attempt only one of the given choice in such questions.  

  (vii) vkids mÙkj vadkuqlkj] laf{kIr ,oa lVhd gksus pkfg,A 

  Your answer should be precise and to the point according to the marks. 

[ fucU/kkRed ç'ufucU/kkRed ç'ufucU/kkRed ç'ufucU/kkRed ç'u ] 

[ Essay Type Questions ] 

1. m|fe;ksa }kjk dkSu&lh fofHkUu leL;kvksa dk lkeuk djuk iM+rk gS \ 5 

What are the various problems that are faced by entrepreneurs ? 

vFkokvFkokvFkokvFkok 

OR 

m|ferk fodkl ds fy, lq>ko nhft,A 

Give suggestions for entrepreneurship development. 

2. m|eh; eukso`fÙk dk vk'k; o blds rÙo crkb;sA 5 

Write the meaning of entrepreneurial attitude and its elements. 
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            vFkokvFkokvFkokvFkok 

    OR 

m|eh; fodkl dh D;k izfØ;k gS \ blds fofHkUu n`f"Vdks.k D;k gSa \ 

What is the process of entrepreneur development ? What are its various 

approaches or phases ? 

3. ,d lQy vfHkizsj.kk iz.kkyh dh fo'ks"krk,¡ crkb;sA 5 

Explain the essentials of successful motivation system. 

[ y?kq mÙkjh; y?kq mÙkjh; y?kq mÙkjh; y?kq mÙkjh; iz'uiz'uiz'uiz'u ] 

[ Short Answer Type Questions ] 

4. m|eh ds izxfr'khy fopkjksa dh O;k[;k djsaA 3 

Explain the innovative ideas of an entrepreneur. 

5. NksVs o cM+s m|ksx ds chp dk lEcU/k crkb;sA 3 

Explain the relationship between small and large enterprise. 

6. ,d efgyk m|eh dh leL;kvksa dks nwj djus ds lq>ko nhft,A 3 

Give suggestions to overcome the problems of a woman entrepreneur. 

[ vfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'u ] 

[ Very Short Answer Type Questions ] 

7. m|fe;ksa dh dksbZ nksnksnksnks leL;k,¡ crkb;sA 2 

State any two problems of entrepreneurs. 
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8. m|eh; fodkl dk;ZØe dk D;k vk'k; gS \ 2 

What is the meaning of entrepreneurial development programme ? 

9. usr`Ro D;k gS \ 2 

What is leadership ? 

[ oLrqfu"B ç'uoLrqfu"B ç'uoLrqfu"B ç'uoLrqfu"B ç'u ] 

[ Objective Type Questions ] 

10. (1) dsoy vaxzsth cksyus okys O;fDr gh m|eh cu ldrs gSaA ¼¼¼¼gk¡@ukgk¡@ukgk¡@ukgk¡@uk ½½½½  1 

 Only English speaking person can become entrepreneurs. (Yes/No) 

(2) m|eh tqvkjh gksrs gSaA ¼¼¼¼gk¡@ukgk¡@ukgk¡@ukgk¡@uk ½½½½  1 

 Entrepreneurs are gamblers.   (Yes/No) 

(3) m|eh m|e dks cukrk gSA ¼¼¼¼lR;@vlR;lR;@vlR;lR;@vlR;lR;@vlR; ½½½½ 1 

 Entrepreneurs create the enterprise.   (True/False) 

(4) O;kolkf;d tksf[ke dks ck¡Vk tk ldrk gS % 1 

 (A) chek ;ksX; tksf[ke  

 (B) chek ;ksX; tksf[ke ugha 

 (C) nksuksa  

 (D) buesa ls dksbZ ugha 
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 Business risk can be classified as : 

 (A) Insurable risk  

 (B) Non-Insurable risk 

 (C) Both  

 (D) None of these 

(5) lHkh O;kolkf;d ?kjkuksa ds fy, eq[; lalk/kuksa dh t:jr gksrh gS % 1 

 (A) HkkSfrd lalk/ku  

 (B) ekuoh; lalk/ku 

 (C) foÙkh; lalk/ku  

 (D) ;s lHkh 

 Main resources are required by all business houses : 

 (A) Physical resources  

 (B) Human resources 

 (C) Financial resources  

 (D) All of these 

(6) iw¡th dh vko';drk gksrh gS % 1 

 (A) LFkk;h lEifÙk;ksa ds fy,  

 (B) pkyw lEifÙk;ksa ds fy, 

 (C) (A) vkSj (B) nksuksa ds fy,  

 (D) buesa ls dksbZ ugha 
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 Capital is required for : 

 (A) For Fixed Assets  

 (B) For Working Capital 

 (C) Both (A) & (B)  

 (D) None of these 

(7) lkekU;r% yksx viuh vkthfodk dekrs gSa % 1 

 (A) jkstxkj ls  

 (B) is'kk ls 

 (C) O;olk; ls  

 (D) mijksDr lHkh 

 People generally earn their livelihood by : 

 (A) From employment  

 (B) From profession 

 (C) From business  

 (D) All of the above 

(8) ekuo lalk/ku 'kkfey djrk gS % 1 

 (A) ekuo (B) lkexzh 

 (C) e'khujh (D) /ku 

 Human resource include : 

 (A) Man (B) Material 

 (C) Machinery (D) Money 
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(9) foÙk ds rÙoksa ls lEcfU/kr gS % 1 

 (A) fLFkj iw¡th  

 (B) dk;Z'khy iw¡th 

 (C) (A) vkSj (B) nksuksa  

 (D) buesa ls dksbZ ugha 

 Components of finance are considered : 

 (A) Fixed capital  

 (B) Working capital 

 (C) Both (A) & (B)  

 (D) None of these 

(10) ekSf[kd lEizs"k.k gksuk pkfg, % 1 

 (A) fyf[kr  

 (B) ekSf[kd 

 (C) n`';  

 (D) buesa ls dksbZ ugha 

 Verbal communication must be : 

 (A) Written  

 (B) Verbal 

 (C) Visual  

 (D) None of these 
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(11) ,d m|eh fu.kZ; ysus ds fy, gksrk gSA ¼g¼g¼g¼gk¡@ughak¡@ughak¡@ughak¡@ugha ½½½½ 1 

 An entrepreneur is for decision making.  (Yes/No) 

(12) ,d efgyk m|eh dh eq[; leL;k gksrh gS % 1 

 (A) f'k{kk esa deh  

 (B) vfHkizsj.kk esa deh 

 (C) foÙk dh leL;k  

 (D) mijksDr lHkh 

 Main problem of an woman entrepreneur : 

 (A) Lack of education  

 (B) Lack of motivation 

 (C) Problem of finance  

 (D) All of the above 

(13) lkadsfrd v{kj IFCI dk iw.kZ :i fyf[k,A 1 

 Write the full form of IFCI. 

(14) vizR;{k dj dk mnkgj.k gS % 1 

 (A) oLrq ,oa lsok dj  

 (B) vk;dj 

 (C) (A) vkSj (B) nksuksa  

 (D) buesa ls dksbZ ugha 
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 Example of Indirect tax is : 

 (A) Goods and Services tax  

 (B) Income tax 

 (C) Both (A) & (B)  

 (D) None of these 

(15) m|eh ;kstuk o izkFkfedrk ds vk/kkj ij dHkh Hkh dk;Z ugha djrkA ¼l¼l¼l¼lR;@vlR;R;@vlR;R;@vlR;R;@vlR;½½½½  1 

 Entrepreneur never works as per plan and priority. (True/False) 

(16) u, m|ksx eq[; leL;kvksa ls ijs'kku gSa % 1 

 (A) vi;kZIr foÙk ls  

 (B) yEch vof/k dh iw¡th ls 

 (C) dk;Z'khy iw¡th ls  

 (D) mijksDr lHkh ls 

 The new enterprises have been facing main problems relating to : 

 (A) Inadequate finance  

 (B) Long term capital 

 (C) Working capital  

 (D) All of the above 
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(17) O;olk; dh vkpkj lafgrk dks O;olk; dk uSfrd ewY; dgk tkrk gSA        ¼l¼l¼l¼lR;@vlR;R;@vlR;R;@vlR;R;@vlR;½½½½  1 

 Code of conduct for the business is termed as business ethics.  

(True/False) 

(18) m|e izcU/ku 'kkfey djrk gS % 1 

 (A) fu;U=.k  

 (B) fu;kstu 

 (C) laxBu  

 (D) mijksDr lHkh 

 Enterprise management involves : 

 (A) Controlling  

 (B) Planning 

 (C) Organising  

 (D) All of the above 

(19) buesa ls dkSu&lk O;kolkf;d fØ;kvksa dk {ks= gS \ 1 

 (A) m|ksx  

 (B) okf.kT; 

 (C) (A) vkSj (B) nksuksa  

 (D) buesa ls dksbZ ugha 
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 Which is the following scope of business activities ? 

 (A) Industry  

 (B) Commerce 

 (C) Both (A) & (B)  

 (D) None of these 

(20) baVjusV o lks'ky ehfM;k us O;olk; esa ØkfUrdkjh ifjorZu yk;k gSA ¼l¼l¼l¼lR;@vlR;R;@vlR;R;@vlR;R;@vlR; ½½½½ 1 

 The Internet and social media have brought a revolutionary change in the 

business.   (True/False) 

 

(21) bZ&dkWelZ ds ek/;e ls lalkj ds fofHkUu fgLlksa esa fLFkr miHkksDrkvksa rd igq¡pk tk ldrk gSA 

¼l¼l¼l¼lR;@vlR;R;@vlR;R;@vlR;R;@vlR; ½½½½ 1 

 Through E-commerce, you can reach the customers located in different 

parts of the World.   (True/False) 

(22) fu;ksftr iw¡th dh ek=k ds vk/kkj ij m|ksxksa dks ck¡Vk tk ldrk gS % 1 

 (A) NksVs m|ksx  

 (B) e/;e m|ksx 

 (C) cM+s m|ksx  

 (D) mijksDr lHkh 
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 According to volume of capital invested industries are categorized : 

 (A) Small scale industry  

 (B) Medium scale industry 

 (C) Large scale industry  

 (D) All of the above 

(23) ,d laxBu ds ewy lalk/ku gksrs gSa % 1 

 (A) Hkwfe  

 (B) Je 

 (C) iw¡th  

 (D) mijksDr lHkh 

 The basic resources of an organization are : 

 (A) Land  

 (B) Labour 

 (C) Capital  

 (D) All of the above 
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(24) lao/kZu feJ.k ds fuEufyf[kr rÙo gSa % 1 

 (A) foKkiu  

 (B) foØ; lao/kZu 

 (C) O;fDrxr foØ;  

 (D) mijksDr lHkh 

 Following are the elements of promotion mix : 

 (A) Advertising  

 (B) Sales promotion 

 (C) Personal selling  

 (D) All of the above 

(25) ,d m|eh gksrk gS % 1 

 (A) vfHkizsjd  

 (B) tksf[ke ysus okyk 

 (C) uoizorZd  

 (D) mijksDr lHkh 

 An entrepreneur is a : 

 (A) Motivator  

 (B) Risk-taker 

 (C) Innovator  

 (D) All of the above 
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(26)   m|ferk fodkl ds fy, vfHkizsj.kk ,d VkWfud gSA ¼¼¼¼lR;@vlR;lR;@vlR;lR;@vlR;lR;@vlR; ½½½½ 1 

  Motivation is a tonic for entrepreneurial development. (True/False) 

(27)  ̂ vko';drk inkuqØe fl)kUr* dk fodkl fdlds }kjk fd;k x;k \ 1 

  Who developed the 'Need Hierarchy Theory' ? 

(28) vfHkizsj.kk dh eq[; rduhd gS % 1 

 (A) ldkjkRed o udkjkRed vfHkizsj.kk  

 (B) foÙkh; ,oa xSj&foÙkh; vfHkizsj.kk 

 (C) O;fDrxr ,oa lkewfgd vfHkizsj.kk 

  (D) mijksDr lHkh 

 The main techniques of motivation are as under :  

 (A) Positive and negative motivation 

 (B) Financial and non-financial motivation 

 (C) Individual and group motivation 

 (D) All of the above 
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(29)  ykxr ds rÙo gSa % 1 

 (A) mifjO;; ykxr  

 (B) Je ykxr 

 (C) lkexzh ykxr  

 (D) mijksDr lHkh 

  Elements of costs are : 

  (A) Cost of overheads  

  (B) Cost of labour 

  (C) Cost of material  

  (D) All of the above 

(30)  i;kZoj.k iznw"k.k jksdus ds fy, dkSu&lh rduhd dk iz;ksx djuk pkfg, \ 1 

  To control the pollution control what type of technique must be used ? 

S 

 


